Installation Guide Buzzer Unit BUO1

StalF~

Check Accessories

All Accessories /
Type of Printer

|

e

<@

Bracket Buzzer M2.6 screws x2 M3 screws x2 Blind Plate Ferrite Core
mC-Print 3 No Used Used Used No Used No Used No Used
SP700 No Used Used No Used Used No Used No Used
No Use except for TSP100GT
TSP10O /11 /11 Used Used Used Only 1 Required No Used
Use with TSP100GT

TSP650I Used Used Used Only 1 Required No Used No Used
TSP700ll No Used Used No Used No Used Used No Used

® Install Buzzer into Star mC-Print 3 Model

1. Remove Ground Fitting from the Buzzer by sliding out, See (Pic.1)

2.Remove Upper Case and 2 screws then remove Buzzer from the Lower Case, See (Pic.2)

3. Remove Rear Cover behind the printer mC-Print 3, See (Pic.3)

4. Install Buzzer at behind the printer mC-Print 3 and install screw(M2.6), See (Pic.4)
5. Plug the RJ11 Cable to DK-Port and Install Rear Cover behind the printer, See (Pic.5)

(Pic.3)

® Install Buzzer into Star SP700 Model

1. Install Buzzer and screw(M3) under the printer unit then plug the RJ11 Cable to DK-Port, See (Pic.1)

https://www.starmicronics.co.th/



IL
Installation Guide Buzzer Unit BUO1 S@@WK

® Install Buzzer into Star TSP100/ 11 / Il / TSP&50II

1. Remove Ground Fitting from the Buzzer by sliding out, See (Pic.1)

2. Remove Upper Case and 2 screws for pull the Buzzer out from case, See (Pic.2)

3. Install 2 screws into Bracket, See (Pic.3)

4. Manage cable into Bracket, See (Pic.4)

5. Install Bracket and screw(M3) under the printer then plug the RJ11 Cable to DK-Port, See (Pic.5)

® Install Buzzer into Star TSP700I

1.Remove Ground Fitting from the Buzzer by sliding out, See (Pic.1)
2.Remove Upper Case and 2 screws for pull the Buzzer out from case, See (Pic.2)

3. Install Buzzer to Cable Cover and install 2 screws(M2.4), See (Pic.3)

4. Plug the RJ11 Cable to DK-Port, See Pic.4)

(Pic.2)

5. Install Cable Cover to behind the printer, See (Pic.5)
6. Install Blind Plate to Cable Cover, See (Pic.6)

https://www.starmicronics.co.th/



